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Ff’ﬁlml
52+8=

[Decimal +,-]

19.6+0.1-04=

[Decimal x,+] *

0.8%x0.6=

[Fraction +,-] ¥
1 1

—_—t ==

2 5

[Fraction x,+] *

§x21:
5 4

[Percents] *

Find 100%, given that 10% is $30

[Integer +,-]
—6-(2-5)=
[Integer x,+]
(~4m) - (-2) =

[Rates / Ratios] *

0.65

19.3

0.48

lol~

SN

§ 300 |

-3

8m

Concrete contains cement, sand and gravel in
the ratio 2:3:5. How much gravel is there in

200 kg of cement?

[Exponents] *

Simplify =
s

[Square Roots / Radicals] *

6345

W5

[Order of Operations] *

(9 _ 8)2011 X (2 _ 2)2012 —

Evaluate

{Exploring Number] *

Find % of $6

100 kg |
g
el

5480

14.

15.

16.

17.

18.

19.

20.

21,

22.

[Scientific Notation]
How many significant digits are there in
14,5007

[Number Patterns] *

Write the first four terms of the sequence

t,=2n where n > 1
2! 47 6, 8
[Expressions] IS
Add the following polynomials:
242 +3)+(x2+3x-2
(x X )+ (x X ) 2X2+5X_|_1l

[Substitution] **
If a=5 and b = 2, write true or false for the
statement: ‘

ab=7 e

[Expansion] **

Expand (a+2)

(= ———-—

a?+4a+4

[Factorization] *
Factor
x*+5x+6

(x+2)(x + 3)

o~

[Equations] **
Solve for x:
x+1)(x-3)=0

-1, 3|

[Graphs & Functions] *

Use the rule m = -)%

— |
the line N, where M(1,1) and NG.7).[ 3

to find the slope of

————

[Exploring Geometry]
Two of the triangles below are similar. Which
is the odd one out?

A B C
70° 505
50°
80°
60°
602

c |

QUOTE OF THE WEEK: There's so much plastic in this culture that vinyl leopard skin is becoming an endangered synthetic. Lily Tomlin
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23.

24.

25.

26.

27.

28.

5| " 2-d)

[Angles] *
Find the value of x°.

[Units of Measurement / Time]

How many centimeters are there in d meters?

100d cm

[Perimeter] *
Write a formula for the perimeter P of the shape.

[Leave your answer as a multiple of m.]

m P:d+n—d

<—d——>

[Area] *
Find the area of the shaded region.
(Uset=3.14)

gy 178.5 m? |

[Surface Area) *
Write a simple formula for the surface area of

the cone below in terms of the symbols given.
[Leave your answer as a multiple of w.]

= 1
N SA.= 5mnr? !

-

[Volume] ¥
Write a formula for the volume V of the
rectangular prism.

(2+d)

V=20 -5d?

29.

30.

31.

32.

33.

[Pythagorean Theorem / Trigonometry]

A radio mast is 16 yd high. If support wires are
to be attached three quarters of the way up the
mast and anchored 9 yd from its base, how long

must the support wires be?

15 yd

—_——

[Statistics]

This stem-and-leaf plot shows the points scored
by the Pittsburgh Steelers in the 2010 NFL
regular season. Find the median and the lower

quartile of the data.

Stem | Ledf
1103457929

21336778
3158
411

median = 23 LQ=16

[Probability}

How many different three-digit numbers
greater than 200 can be made using the digits

1, 3 and 5 once each?

[Complete the tree diagram to help solve the problem.]

Start
First digit 3/\5
/N /N
Second digit 1 5 1 3
| |
lastdigit 5 1 3 1

[Problem Solving 1] ¥

A circular pizza can be cut into seven portions
using just three straight cuts. Find the
maximum number of portions obtainable using

seven cuts.

3 cuts gives
7 portions.

[Problem Solving 2] *

[y

If you calculated the following sum

9+ 99 + 999 + 9999 + 99,999 +

where the last number to be added consists
of 99 digits of 9, how many times would the

digit 1 appear in your answer?

i ———

99

<
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1 i [Long x,+} 14. [Scientific Notation]
187 % 8 = 149.6 How many significant digits are there in
——— 200,0007? i
2. [Decimal +,-] 1 i
0.7+35-05= 3.7 ——
—— 15.  [Number Patterns] *
3. [Decimalxs] * Write the first four terms of the sequence
04+5= 0.08 t,=2n+3wheren=1 .
57,9, 11
[Fraction +,-] * 16. (Expressions] -
1 1_ 1 Add the following polynomials:
2 3 6 (2x2+3x+5)+(x2—2x—3)
i 5. [Fraction x,+] % , 3X2 + X+ 2
Lol .2 ———
9 - 3 17. [substitution] *
Ifa=5,b=3and c =1, write true or false for
6. (Percents] * _ . T — the statement:
Find 100%, given that 50% is $28 $ 56 btc<a true
[integer +,-] 18. [Expansion] ** ] :
7+(3-9)= 1 Expand (x—-2) _4x+4 |
finteger x+] 19.  |Factorization] *
(+5) - (<3g) = —-15q| Factor
- q x4+ 8x+12 (X+2)(X+6)i
9. [Rates / Ratios] * 20 i "
Renee built a Lego house using white, blue and ' [chfvlzn?or i
red bricks in the ratio 2:8:5. Of the 150 bricks o _
(x—8)(x+3)=0 3,8
used, how many were blue? . a—
80 |
) === 271. [Graphs & Functions] *
| 10.  Exponents] * 3% Use the rule m = i L to find the slope of
Simplify = 3t the line PQ where P(3 2) and 0(1,5). | _3
| 11.  [square Roots / Radicals] ¥ S
\/— _ 22 [Exploring Geometry]
Evaluate 5—\/_&—)— 20 l Find the value of x. [All measurements are in cm.]
4 12.  [Order of Operations] *
15%36%(2—2)+9 = 9 I 4
13.  [Exploring Number] *
. 2 .
Find = of $3.60 2 i
m 9 (6] $ $ O 80 I 2 E
~ = 3 =~ — 4 |
QUOTE OF THE WEEK: Constant dripping hollows out a stone. Lucretius
= L e R &



23 [Angles] * 29 [Pythagorean Theorem / Trigonometry] *
Find the value of the biggest angle in the Find the distance between the points 4(1,5)
triangle below. [Triangle not drawn to scale.] and B(4, 1).

5

70° ] 30.  [Statistics] *
Find the mode and the interquartile range for
this data showing the goals scored in all men’s

24. [Units of Measurement / Time] Soccer World Cup finals between 1930 and 2010,
. 5 :
How many years are there in 7 decades? Soccer World Cup finals 1030 - 2010 |

2x°+10°

10t years J -goals 01| 2|3|4|5]|6]|7
25 [Perimeter] * T ffeqUEﬂCY 1 2 2 4 3 3 3 1
Write a formula for the perimeter P of the
shape. mode = 3 IQR=3
i I I

31.  [Probaiity]

T How many odd, three-digit numbers can be
+s made using the digits 1, 2 and 3 once each?
= = P — 8 S i [Complete the tree diagram to help solve the problem.]
—_— ] Start
26 [Area] * 4
Find the area of the shaded region. /\

(Use t=3.14) Last digit 1 3

7 N N
Second digit 2 3 1 2

I o
Fistdigt 3 2 2 1 4

=

| 86 m’

32.  (Problem Solving 1] *

27 surts Area Fill in the missing digits in the multiplication.

Write a formula for the surface area of the

square pyramid. > 2 [8 ] i
X 2 |4
o][1][2]
' : 2 : e ; R—
, 4. = 3| 4] 5 [6] o
28 [Volume] * 5 4 7 )
= o 7]
Using V' = 3 X base area X height, write a S
formula for the volume ¥ of the square pyramid
shown. 33. [Problem Solving 2] *
[ How many squares are there on a chess board?
7 [Hint: Remember that apart from the 64 smallest squares there
l are other squares of a larger size 2 x 2, 3 % 3, etc.]
acp 204 |
V= =%~ SR
a == _3_ ——| White 4,7 © Copyright. Not to be reproduced without permission. J, B. Wright - Echuca 2011 [ &
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M ATH' S MATE W NaMIE:
| Due Date: ..., e [ sisuiassz
Term 4 - Sheet 3 = Parent's Signature: ... .. ... ... ..
1. [Longxs [ 14.  (scientific Notation]
6.03+9= 0.67 | How many significant digits are there in 0.0407?
. —!
2. [Decimal +,-} ; 3
4+02-23= 1 .9 i 15. [Number Patterns] *
. Write the first four terms of the sequence
3. [Decimalx+] * t,=5n where n > 1
0.75 % 0.04 = 0.03 5,10, 15, 20 |
4 ' N o 16 [Expressions] -
! gmt'o; ol 1 Add the following polynomials:
2-1- 15 i G+ 5p+ 1) + (2x - 3y + 4)
2 BX+2y+5 |
|9 trracton .y * 3 17, (substiution] * -
2%x2 4 = 5 -5— { If a =3 and b = 4, write true or false for the
S ! statement:
6. [Percents] * (a + b)2 - a2 +2ab + bl true | !
Find 100%, given that 2% is $4 :
= "8 ° $ 200 1 18. [Expansion] *
' i Expand and simplify »
7. [Integer +-] 1 _ 2X2 + X — 3 ]
(6-11)-2= _7 | x-D2x+3) — |
| 19. [Factorization]
8. [Integer x,+] : Factor ;
—T) . (=2f) = ! —_ —
=720 14t | o 1l 430 (x-6)(x-5) |
. 9. [Rates / Ratios] * 20 - "
The ratio of the pages Heath has read to those ' [Scc‘)uli/l‘ce):nsf]or .
he hasn’t read from a book of 360 pages is 5:4. ) 2.5
x+2D)x-5=0 ’
How many pages has Heath read? | -
200 ‘
- — 21, (Graphs & Funetions] *
£ 10, Exponents) * As Use the rule m = % to find the slope of
: : i — 2T M
Suplify ~=5 455 the line AB, where A(-1,1) and BO,2).[ 4 |
[Square Roots / Radicals] * 22 (Exploring Geometry]
Evaluate 624 + 26 6 Two of the triangles below are similar. Which
- is the odd one out?
[Order of Operations] * A B c
(3-3)"+(1999 x 3)° = 1
12 12 9 4.5 3 6
13. xploring Number] *
[li'pld %N fbl] ° ’ 2
ind — of | ton in pounds. |
8 i 1750 Ib | A j
. QUOTE OF THé -WEEK-:"I-get b;/ witr.1 a little help from my friends. John Lennon -
S pecoat, N A B0 anannE DR EERE




23.

24,

25.

26.

27.

28.

[Angles] *
Find the value of x°.

/

x°+20°

A 4

x°—20° o
7 Y

Y

=

[Units of Measurement / Time]

How many grams are there in w kilograms?

1000w g

[Perimeter] ¥
Write a formula for the perimeter P of the

shape. [Leave your answer as a multiple of t.]

[Area] *

Find the area of the shaded regioh. (Usem ::%)

IR

9 1r1

24.5 in.?

[Surface Area] *

The surface area of a sphere is 47tr2. Write a
formula for the surface area of the solid
hemispher C. [Leave your answer as a multiple of 1.

| SA = 32 |

[Volume] *
Write a formula for the volume V of the
rectangular prism.

A=y?

y+1

==

=y

29.

30.

31.

32.

33.

[Pythagorean Theorem / Trigonometry] *
Find the height of the equilateral triangle
below. (Give your answer as a radical.]

60° J3

1 1 ——

[Statistics] *

Find the range and the upper quartile for this
box-and-whisker plot showing the density of
selected common substances.

AR NS ENEA R R}

| T
AEEENEAEEEAREER i

T

2 S U F S e T | L LI LI L L f
10 20 30 40 50 60 70 80 90 100 110 120 130 140
density (x 100 kg/m?)

UQ=10,500

range = 12,500

e

[Probability]
How many different two-digit, even numbers
can be made using the digits 1, 2, 3 and 4 if the

digits can not be repeated?
[Complete the tree diagram below to help solve the problem.]

Start

Last digit

2 4
SN TN
34 123

| O

First digit 1

[Problem Solving 1] *

If each letter represents a different digit, none
of which is zero, what number does DANGER
represent? [Clue: SOS =323]

CROSS

+ ROADS
DANGER

==

158,746

[Problem Solving 2] *
What are the last two digits in the expansion
of 6 2004«) '

96

e r—— ]

White 4.6 © Copyright, Not to be reproduced without permission. J. B, Wright - Echuca 20&]_
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MATH'S MATE
Term 4 - Sheet 4 T

DueDate: ... ../..../ ...

Parent's Signature: ...

1,

2.

3.
4.
‘s
6.
17

- |8
B 1.
RE]

[Long x,+]

456 +5=

[Decimal +,-]

025+0.22-0.27=

[Decimal x,+] *

45+1.5= 30
[Fraction +-] ¥

1 1 7
—+—= S
374 12
[Fraction x,] ¥

5,22, L
9 5 3

[Percents] ¥

Find 100%, given that 5% is $6

[Integer +,-] .
(6-3)-9= —6 |
[Integer x,+} 1
(+20k) = (-4) = -5k |

[Rates / Ratios] *
The ratio of the soda water to lemon juice in the
lemonade was 9:1. How much lemon juice was

there in 2 L of the lemonade?
200 mL
[Exponents] * -

) ) p° .
Simplify —— 4
[Square Roots / Radicals] *

Evaluate 942 +6+/18

0.5

[Order of Operations] *

(4-4)"+2012= 0

[Exploring Number] *

Find L%of$84

$ 126

14.

15.

16.

17.

18.

19.

20.

21,

22.

[Scientific Notation]

How many significant digits are there in 50507

3

[Number Patterns] *

Write the first four terms of the sequence

t,=n* where n > 1

1,4,9,16

[Expressions]

Add the following polynomials:

2x+y+5+(x+2y-3)

3x+3y+2

[Substitution] *
If a=35, b=3 and c = 1, write true or false for

the statement:
12—-b=a+c+4

false

[Expansion] *

Expand and simplify
(x+4)*-10

X2 +8x+6

[Factorization]

Factor
x*+3x—-10

(x-2)x*95)

(Equations} *

Solve for x:
x—4dHx+9)=0

9, 4

[Graphs & Functions] *

2 _";' to find the slope of

Use the rule m = e
— 2 1
the line 4B, where A(2,~2) and B(-3,1).

_3
5.

[Exploring Geometry]
Find the value of x. [All measurements are in cm.]

1.2

0.6

QUOTE OF THE WEEK: One of the advantages of being young is that you don't let common sense get in the way of doing things everybody else knows are impossible.

page 63
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23.  [Angles) * 29.  [pythagorean Theorem / Trigonometry] *
Find the value of x°. A triangle has sides of lengths 5 m, 23 m and
24 m. Is it a right triangle?
no |
30 . [Statistics] ¥
Find the median and interquartile range for this
o | box-and-whisker plot showing the number of
60 | U.S. earthquakes by year (magnitude 6.0 - 6.9
- on a Richter scale), between 1970 and 2010.
24 [Units of Measurement / Time]
How many liters are there Y i |
in v milliliters? 1000 L | e ————————— >
123456 7 8 91011121314 15 16
25. [Perimeter] number of earthquakes by year
Write a formula for the perimeter P of the . |
: P median = 6 IQR=3 5
square. —— _ —
31, [Probabiity]
T TS In how many different ways can three blocks,
{ A, B and C, be stacked in a pile?
| : P= 45 i [Complete the tree diagram to help solve the problem.]
| | Start
26.  (areq ¥ /"’/"’\
Find the area of the shape. (Use 1 = 3.14) Top block A B C
/\ /\ /N
Middleblock B C A C A B
[ | ]
. Bottomblock C B C A B A
| 5.57 yd?| |
—_— — 6 I
27 [Surface Area] ¥ 32 . .
Write a formula for the surface area of the cube. + [Problem Solving 1]°* N
Pierre de Fermat, a 17" century French lawyer,
stated that any whole number can be written as
the sum of four, or fewer, square numbers.
For example: 15=3%+22+12+ 12
_ Write 56 as the sum of four, or fewer, square
S A4 = 642 numbers.
y A
——— 1 62+424 02 :
28. [Volume] * = = ==t
Write a formula for the volume ¥ of the
Eianowlar prim 33. [Problem Solving 2] *
guarp ' At the end of a set of tennis, Gabby had won
exactly 50% of the points played but lost the
set! What is the least number of games that
Gabby must have won in the set? i
a 2 L
: . y= acb ‘i Ej
——— ——— ..-_,2__ .- ._.j White 4.5 © Copyright. Not to be reproduced without permission. J. B, Wright - Echuca 2%
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MATH'S MATE w NGIMIE, e
—]i Due Date: ........... YA y —
Te rm 4 B Sheet 5 = Parent's SIgNatUre: ... ... e
1. [Long x,+] * 14,  [scientific Notation]
18.9 x 47 = 888.3 Evaluate (2.5% 10%) X (4 x 107 0.1 |
x e = . . 1
2. [Decimal +-] 15.  [Number Patterns] *
10+42-001= 14.19 Write the first four terms of the sequence
t,=11—nwheren=1 )
3. [Decimal x,+] ¥ 1 O’ 9, 8’ 7 i
1+0.008 = 125 |
| 16 [Expressions]
4. [Fraction+-] * Using algebraic notation, write three
11 1 47 | consecutive whole numbers starting with 7.
—+—+—= 2, 2
3 4 5 60 | |
— nn+1,n+2]
5. [Fraction x,+] ¥ — — H
3 4 7 17.  [substitution] *
ZXI'S-: 1%‘ 1 If v =u + at find the speed v, in m/s, if
u=2m/s,a=3m/s’and t=35s.
6. [Percents] **
If the 10% tax on a pair of shoes was $10, what 17 m/s ]
was the total price of the shoes? W 18.  (Expansion] * o
{ 2
| | Expand (b-3) b2_-6b+9 1
7. [Integer +,-] * { 4|
(4 - 5) — (3 - 6) = 2 ! 19.  [Factorization] *
3 et Factor and simplify
) 8. lInteger x,+] * t x—-x-12 X 4 i
(10-3)x(3-10)= -49 | x+3 i
9. [Rates / Ratios] * 20 (Equations] *
p I reduced an image on my computer using a Solve for x:
b scale factor of 75%. What scale factor is X x
@ required to return the image R D) L 3 5 6
& to its original size? 133.33% ]
J : 21 [Graphs & Functions] ¥
T 110, (Exponems Complete the table:
[E, 1£2%=0.125, then x = -3 :]| equation slope x-intercept | y-intercept
:I’ 11 [Square Roots / Radicais] * y =x+ 6 1 (_6!0) (0’6)
Simplify 2v8 +2+/2 642 y=246| 2 |(=3,0)| (0,6)
’ | 12. [Order of Operations] * 22 [Exploring Geometry]
Pl (25— 5%) + 2004 + 1998 = 1998 Circle the net that cannot be folded to form a
' ; : model of a polyhedron.
l’ ; 13. [Exploring Number]
: A pair of socks cost $3.80. How %
% many pairs can you buy with $25.00? 6
'_- QUOTE OF THE WEEK: There's one advantage Ito the music the younger generation is crazy about, nobody can whistle it.
i
. pagess ELEEEE R R EEE




23.

[Angles] *
Find the value of the smallest angle in the
triangle below. [Triangle not drawn to scale.]

29.

[Pythagorean Theorem / Trigonometry] ¥

Find the value of x, given cos 6 = 0.69

2x° + 35° 10
x°-5° 7x5 6.9 ]
10° | -
=== 30. [statistics]
24, (units of Measurement/ ine] Find the median and range of the number of
Change 0.25 acres into square yards. minutes representing the winning times for all
1210 yd2 l the men’s Olympic marathons (1896 to 2008).
— = i Winning times - Olympic Marathons - Men {1896 - 2008}
25 [Perimeter] * 3 dagbrii ] pstasniieppaail
Find the perimeter of the parallelogram.
| 160 170 180 190 200 210 220
minutes
4 in. iy ]
Area=40in. median = 143  range = 82 }
30 in. } 31.  (Probability]
— A drawer contains three ties, identical except in
26.  (areal ® color. One is green (G), one black (B) and one
Find the area of the shaded triangle, given that navy (N). Two ties are selected at random from
M, N and P are midpoints of the sides of A4BC. the drawer. Find the probability that one of the
chosen ties is black.
[Complete the tree diagram to help solve the problem.]
First tie Second tie
B
G
< g
1
N P £ 90 m? | Start B
30m ——> — m | : < N or0.6
G 2
| 27. [Surface Area] * N < B é— l
Using S.4. = 4nr? and 7t = 3.14, find the —
surface area of the sphere.
32. [Problem Solving 1] %
Find positive integers a, b, ¢ and d if:
a+a=b,
b+b=c,
c+c=d and
a+b+c+d=360
78.5 mm? | \
r———— a=24 b=48 c=96 d=192 |
28, o —_— e
Abrick 12 cm by 8 cm by 25 cm is dropped into 33 (Problem Solving 2] *
a deep rectangular tank which is half full of The sum of x consecutive numbers is 12x + 4.
water. If the base of the tank is 15 cm wide and Find the maximum possible e
40 cm long, by how much will value of x. 8
the water level in the tank rise? 4 cm el (SN
o — i~ o — White 4.4 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2011 ‘._ 4
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MATH’S MATE \/ Name: ... ...
h -Ii DueDate:...../..../....
Term 4 - ShGEt 6 ' Parent’s Signature: ... ... ... ...
| T [Long x,+] * 15. [Number Patterns] *
15.6 x35= 546 Write the first four terms of the sequence
t,=5n—1)wheren>1 "
2. {Decimal +,-] O, 5, 1 0, 1 5 i
3.142 - 0.14 - 0.002 = 3 - !
- — 16. [Expressions]
| 3. [Decimal x,+] * Using algebraic notation, write two consecutive
25x0.04 = 1 whole numbers starting with 2.
4. [Fraction +-] * )
2021 3 .2n,2n{_r1
3 5 15 B § 17.  [substitution] *
. o If x = v¢ find the distance x, in km, when
5. [Fraction x,+] ¥ .
1 7 | v=25km/h and ¢ = 120 min. 50 km |
3—+—-= ~
2 3 1 2__ _ _ —
6. [Percents] * 18. [Expansion] * ' .
If the 10% tax on the price.: of a telescope was Etngn? _ar:i simplify 2+ 2+ 9 1
$30, what was the total price of | (¢+3) ————
the telescope? $ 330 |
—— 1. [Factorization] *
7. (nteger+ ¥ , Factor and simplify
(6+3)+(2-4)= 7 | X+ 4x+3 |
8. [Integer x,+] * 1 i 1 — !
(4 B 6) & (3 B 8) = 1 0 ' 20 [Equations] %
9. [Rates / Ratios] * Solve for x;
I reduced a scanned image on my computer B 4
using a scale factor of 25%. What scale factor 2 4
is required to return the image i
to itS original SiZQ? 4000/0 i 21 . [Graphs & Functions] *
. 4 Complete the table:
1 0 [Exponents] *
f3%= L, find the value of x. _3 f equation slope x-intercept | y-intercept
N L et 1 1 (0) | (O1)
11, [square Roots / Radicals] * 1
Simplify 47 - 3463 LSl y=x-11 1 | (1,0) | (0,-1)
12 [Order of Operations] ** 22, [Exploring Geometry]
(6x4-23)°-23= -7 ' I have three squares and two triangles all of
. . which have side lengths of 4 cm. T attempt to
| 13, [Exploring Number] * form a net for a polyhedron by taping the
Can you drive 475 km at an average ’ shapes together along their edges. If this can
speed of 80 km/h in under 6 hours? yes | be done, into what shape will the net fold?
14 [Scientific Notation] ¥ AO @ ?
-1 =~ 2 . . ]
QUOTE OF THE WEEK: Just a glan_ce at .this ge.neration makes us realise we are living in hair raising times. . o
Page 67 - LGB s JE e Lo (o] ] 2] 3] el 2e]




23.

24

25.

26.

27.

28.

{Angles] *
Find the value of the biggest angle in the
triangle below. [Triangle not drawn to scale.]

100° |

{Units of Measurement / Time]

How many cm’ are there in 1 cubic meter?

1,000,000 cm® |

[Perimeter] *
Find the perimeter of the rhombus.

5
™ /Area = 20.4 in2

27.2 1in.

[Area] ¥
Find the area of the shaded triangle.

4 cm
r '_’»"'__
1

14 cm?

[Surface Area] *
Find the surface area of the cone.
(Use t=3.14)

)
o
i

042 ft2

===

[Volume] *
For the pyramids shown, find the ratio:
Volume of pyramid with height 7

Volume of pyramid with height g

0

27 1

2~ =y

29.

30.

31.

32.

33.

{Pythagorean Theorem / Trigonometry] *
Find the value of x, given sin ot = 0.42

21 |

[Statistics]
Draw a box-and-whisker plot showing the
number of moons of each planet in our solar

system:

Earth 1 Saturn 47
Mars 2 Uranus 27
Jupiter 63 Neptune 13

[Venus and Mars don’t have any moons.]
Number of moons in our solar system
NIRRT R B

H il O T
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0 10 20 30 40 50 60 70

[Probability]

A soccer team plays three matches which it can
either win (W), lose (L) or draw (D). What is
the probability of having 2 wins and 1 draw?
[Complete the tree diagram to help solve the problem.]

Start
W/J)\L
DWLWDULWD L
JIN /N /NN /N /N /N /N ZIN

3¢ match L WDWD LW D LWD LWDLWDLWDLWDLWD L

15% match

2nd match

R
or01 | 9 1
[Problem Solving 1] * N -
0.6 % 0.125 1
025x0.1 33

= =]

[Problem Solving 2] *

A gambler begins with $1024. He bets half of
all he has on the toss of a coin. So pleased is he
with the win that he bets, in exactly the same
fashion, another 9 times.

“Happily,” he says, “I won as often as I lost.

So I presume I've come out even.”

Just how much money will he have after the

10 bets?
[Example: If he bets $100 he will either lose the $100 or win
$100.]

eEE20322TETRERTR99829999999299909088¢

§ 243 |] j
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1. [Long x,+] ¥ : 15.  [Number Patterns] *

612 = 18 = 34 1' Write the first four terms of the sequence
t,=2(n+1)wheren=1 i

2. [Decimal +,-] "—'__i 4, 6, 8, 1 O
L1+ 049 + 001 = 1 6 | 16 [Expressions] - -

3. [Decimalx+] * ' Using algebraic notation, write three
295+09= 25 consecutive even numbers starting with n — 2.

4 (Fraction +-] * . n-2,n n+ 2 }
_% 2 — __5_ = 1 17 [Substitution] * . . )
82 Given a = — find the acceleration a, in m/s’,

5. [Fraction x,+] * " 360 / 47260

1 when v = m/s and =60 s.
12 x 12 12 5 m/s?
9 6 3_ ]

6. [Percents] * 18. [Expansion] *

If the 10% tax on admission to the game was Expand and simplify . o |
$2, what was the total price | 2m+3)(m-1) 2m=+m 3 !
of admission? $ 22 \

7. [Integer +,-] ¥ 19.  [Factorization] * ‘ '

(7-11)-(1-8)= 3 1| inlctor and simplify
i x*+11x +10
8. [Integer x,+] ¥ —_— X+ 1 O 1
x+1
6-9 _ 1 |
9-6 | 20. [Equations] *

9. [Rates / Ratios] * Solve for x:

Joshua averaged 164 heart beats per minute for i X g 12 I
the first 10 minutes of his half an hour fitness 3 4 - !
session, and 122 beats per minute for the rest of 54 (Graphs & Functions] *
the session. What was his average heart rate for Complete the table:
the whole session? |

1 36 beatS/ min | equation slope x-intercept | y-intercept

10. [Exponents] * y=x 1 (0,0) (0,0)
If3x2Y=12,theny=| 2 01

- =x-1| 1 1,0 -

11.  (Square Roots / Radicals] * | d ( ! ) ( ’ )

Simplify 3v/8 +2+/18 1242 1

—1! 22 [Exploring Geometry]
[Order of Operati(;ns] * : Which shape can this net be used to make?
(1001 — 10%) x 2004 = 2004 ] 1y e

13.  [Exploring Number] * . B) square pyram1d

Can you drive 300 mi at an average ] C) triangular prism
: speed of 55 mph in under 6 hours? yes I D) rectangular prism
14.  [Scientific Notation] ** E) tetrahedron l
' Evaluate : "
(1.6 % 103 x (3 x 10%) 48,000,000 | C |
QUOTE OF THE WEEK: There is no duty we so much underrate as the duty of being happy. Robert Louis Stevenson
page 69 N E R EEE




E3 [Angles] * 29 [Pythagorean Theorem / Trigonometry] ** —| j
Find the value of x°, Find the value of x, given cos 6 = 0.4
=]
V 18° ; 30. [statistics]
=] Draw a box-and-whisker plot for the set of data
24, (units of Measurement / Time] whose lowest value is 6, greatest value is 44,
How many ft* are there in an area of 720 in.29 median is 32, lower quartile is 22 and upper
quartile is 38.
5 ft2 L'
25. [Perimeter] ¥ I.' .: i_;_ Vo i ’ o E :'
Find the perimeter of the rectangle, EEAER I T T g | t
0 10 20 30 40 50
Area =36 km? 4 km 31, (Probabiiiy]
) Three coins are tossed. What is the probability
‘ 26 km J of having two heads and one tail? [Complete the
— 1y tree diagram to help solve the problem. ]
26. [Area] * Start
Find the area of the shaded triangle, given that /\
M is the midpoint of 4B, First coin H T
P N
p ~———l4cm 5 Second coin  H T H T
T M . _ N AN AN N |
41;m Third coin H T H T i TH T
c ' 14 cm? | 3 (
R i or 0.375 8
27.  [surface Area] * 32, [Problem Solving 1] *
Using S.4. =4mr2 and i ~ 37%, find the surface Chuquet posed the following problem in the
arca of the sphere. year 1484:
“A builder made a deal with a man to build a
house in 30 days. For every day of work the
builder was to be paid 5 coins but for every day
of rest he would pay back 6 coins. When the
154 in 2 ” house was finished the builder had
ln H gained 18 coins. Find the number 18
28, (ome of days the builder worked.” N—
The water level in a public swimming pool has ~ 33.  (Problem Soiving 2] *
fallen 4 cm due to evaporation. Use the pool A bricklayer knows from experience that no _
dimensions given below to work out how many more than 6% of any load of bricks is broken on
liters of water must be added to the pool to delivery. Since it is often not possible to
restore the desired level. purchase exactly matching bricks at a later date,
[Hint: 1L=1000 cm?] it is important that the original order include
25 m sufficient bricks for the job. If bricks can only
i e be ordered in lots of 100, and 8000 bricks are
2m = . required to finish the job, how many { 8600
{1 0,000 L ” bricks should the bricklayer’s order? bl &
e White 4.2 © Copyright. Not to be reproduced without permission, J. B. Wright - Echuca 2011 i
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[Long x,] * 14. [scientific Notation] * y
31.6%x25= 790 Evaluate (8 x 107+ (2% 107) 0.4 %
2' [Decimai +-] 15. [Number Patterns] *
32-05+1.64= 33.14 Write the first four terms of the sequence
t,=n(n+1)wheren=1 ;
3. [Decimal x,7] ¥ : 2, 6, 12, 20;.
0.04+ 8= 0.005| 44 , —— r
— ! [Expressions]
4 (Fraction +] ¥ Using algebraic notation, write two consecutive
1.2 4 11 l whole numbers starting with 2n — 1.
273 5 30 | |
2 on-1,2n ll
3. [Fraction x.+] * 17.  [Substitution] ¥ o '
1 11 ‘ : 14 .
37 + —7— = 2 1 Given I = R’ find the current /, in Amps,
- when ¥ = 240 Volts
6. [Percents] ** and R = 1200 Ohms. 02 AmpS E
If the 10% tax on the price of a ticket was $1.50, ' ’
what was the total price of 18 iExpansion] *
ket? 1650 | pem
the ticket? $ _ Expand (2r—1)? Dr2 —4r+ 1 ]
7. [integer +-] ¥ .
(8 — 4) — (4 - 8) = . 8 l 19. (Factorization] * . ‘
— Factor and simplify
2
8. [Integer x,+] ¥ ! _X_—l‘iﬁ X — 4 l
4-9)x(6-3)= -15 ! x—3 , |
9. [Rates / Ratios] * 20. Uszijla‘t/l:]?].;r e
It takes 2 minutes for Kahi to shell a bucket of . x o
peas. It takes her sister 14 minutes. How long - -==6 24 5
would it take if they ) 4 2 —
both worked together? 1 min 45 s 1 21. [Graphs & Functions]
- Complete the table:
10. (Exponents] * : 3 >
Gi 1 0.04. find th | ¢ 2 equation slope x-intercept | y-intercept
iven — = 0.04, find the value of m.
5t ~ } y=3x 3 (0,0) | (0,0)
11.  [Square Roots / Radicals] * — — y=3x- 3 3 (1 ,O) (O,_S)
Simplify 2+3v2 +5-v72 7_3\/§E
— 22 [Exploring Geometry]
. Circle the net that cannot be folded to form a
12.  [Orders of Operations] *
(267 = 6)°+ 10 = 11 ‘ model of a polyhedron.
. B
13.  (Exploring Number] * l_ | J Qﬁ@
Kitchen chairs cost $48 each. 4 E [
How many can I buy with $200? |
QUOTE OF THE WEEK: Almost every man wastes part of his life in attempts to display qualities which he does not possess, and to gain applause which he cannot keep, Samuel Johnson
page 71 MR EEEEE s bs)




23. [Angles] ¥
Find the value of x°.
35° |
24 [Units of Measurement / Time]
Convert 10 km? to m>.
i
10,000,000 m? |
25. [Perimeter] **
Find the perimeter, in feet, of the square.
ANeasavat
24 ft |
26.  [Areq) ¥
Find the area of the shaded region.
. i
37.5 in.? ]
27.  [surface Area] * 2
Use SA. =ar(r+s)and t = & to find the
surface area of the cone.
110 mm? |
28.  (volumel ¥

A square pyramid of base 3 cm by 3 ¢m is made
from 18 cm’ of clay. What is the height of the
pyramid?

6 cm !

29.

30.

31.

32.

33.

[Pythagorean Theorem / Trigonometry] *
Find the value of x, given sin o = 0.3

12
W o

[Statistics]

Find the median and the range for this
box-and-whisker plot showing the golf scores
Rebecca had during her 2010 matches.

70 80 % 100
golf scores
median = 83 range = 26 1

[Probability]
A die is rolled, and then a coin tossed. What is
the probability of throwing a tail and a five?
[Complete the tree diagram to help solve the problem.]

Start

Die 1 2 3 4 5 6

SN /N /N /N /N /N
Cin HTHTHTHTHTHT
s |
12 |
[Problem Solving 1] %
Fill in the magic square.
[Every row, column and diagonal has the same sum.]
1(5(9|3]|7
41821 (10
216(5[9(3}
104371
8[2]6[5]

[Problem Solving 2] ¥

I have square paving tiles in two different
colors. I want you to design for me a paved
area that is made up of a rectangle in one color
surrounded by a border in the other color.

I want however to use exactly the same number
of tiles of each color and [ want the total

paved area to be as large as possible. 1

How many tiles do I need?
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